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Chapter 22

All exemplar answers given are worth full marks.
11 D

1.2 The bar chart should be completed as below:
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1.3 It's likely that the UK bar would be slightly higher today. The Nigeria bar would likely be much higher today,
with the percentage of urban population at around 50%. The height of the Botswana bar would also
increase, but not by as much as the Nigeria bar.

1.4 HICs have quite stable urban populations and, in some places, urban populations are decreasing because of
counter urbanisation. In LICs there is currently rapid increase in the proportion of people living in urban
areas. This includes the development of some megacities with more than ten million people.
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